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1 1kfk B F=—ZXZNOCO WA 66. 143 12 463.0 17.5 39 52 52 52 52 14 72 14.2 60 80 95
2 #HFWE OBMD every TC W 50.314 11 352.2 30 52 14 39 52 31.7 80 50 47.5 10.3 11.3
3 A K&/ VILANTTC WA 42.929 10 300.5 25 39 39 32.5 26 54 50 60 10.3 11.3
4 B FEHZ nivridar=zzo-n LB 23.571 10 165.0 10 13 26 6.5 1.7 26 13 27 30 30

5 Bl EZ every TC [ 21.171 8 148. 2 10 32.5 32.5 9.8 13 20.2 20 20

6 K ¥/ woyrsuy—rTc  I4A 21.071 10 147.5 10 13 13 6.5 19.5 26 26 7.9 9.7 40

7T AE EARE YILANTTC LA 20. 714 5 145.0 15 26 26 39 39

8 A BFLE SXAvFTC @AW 20.114 9 140. 8 3.3 13 16.3 16.3 6.5 3.3 45 18.7 25

9 Ek KW HERTC fE L 18.429 8 129.0 6.5 13 6.5 13 13 36 25 22.5

10 K&%F 5 every TC W 17.57 9 123.0 6.5 13 26 10.6 13 13 18 22.5 17.5

11 F H SRXEvbrTC MW 15.129 7 105.9 3.3 6.5 26 3.3 13 40 13.8

12 /A R LIFUVZFEHKE LS 12. 486 9 87.4 13 6.5 6.5 11.4 6.5 1.7 22.5 15 12.5

13 Wi e NBF=2HA—F> LB 11. 943 9 83.6 5.1 13 1.7 19.5 12.2 6.5 6.5 16.2 9.7

14 FJNl ¥% T-Step L5 10. 886 10 76.2 5.1 6.5 6.5 6.5 14.6 13 6.5 12.4 13.8 9.4

15 KA[|R  #h%F wo+r—vozxTc  1UA 10. 600 8 74.2 6.5 13 8.9 6.5 6.5 11.2 9.4 18.7

16 1@ F74 —Ha4+y—XT-Cc UA 9.829 9 68.8 6.5 6.5 6.5 8.1 6.5 6.5 8.7 17.5 15

17 =% 122 SRy +TC W 7.686 9 53.8 6.5 3.3 0.8 1.3 3.3 1.7 15.8 8.5 9.1

18 & FIKKE +JT=R7H LE 7.629 9 53.4 6.5 6.5 3.3 3.3 6.5 6.5 7.6 11.3 8.5

19 Ik E1fE ke TC A 7.171 7 50.2 3.3 3.3 3.3 6.5 8.5 9.1 16. 2

20 B ZEEF HEHKRTS = 6. 843 9 47.9 3.3 3.3 0.8 13 3.3 3.3 7.4 8.8 8.8

21 ’H{F 2B H——FT=X E 6. 086 10 42.6 5.1 6.5 6.5 0.8 1.7 3.6 6.5 6 6 6

22 R SRR umeEzZU U TT BIR 5.614 7 39.3 3.3 1.7 3.3 3.3 13.5 6.6 1.6

23 == [5F1 F7HETC ] Ly 5. 400 7 37.8 6.5 0.8 3.3 6.5 1.7 9 10

24 Ay Bl H—_—F=X BEH 5.071 8 35.5 5.1 1.7 1.7 3.6 3.3 6.3 7.6 7.9

25 HiR B#k E-F7=2437 BiR 4.957 9 34.7 5.1 1.7 6.5 0.8 1.7 1.7 5.4 7 1.3

26 A EHX FILITFTC wnA 4.829 3 33.8 14.6 7.9 11.3

21 BF A SAREYEFTC MW 4.529 6 31.7 1.7 3.3 3.3 3.3 3.3 16.8

28 R MDE uMmMEZU Ur TT BiR 4.357 6 30.5 3.3 1.7 1.7 6.8 10 7

29 thft #EZFE umezuur 7T BIR 4.071 8 28.5 3.3 3.3 3.3 1.7 3.3 1.7 1.3 6.3

30 WX BF LVDI3ZATG wnA 3.671 5 25.7 3.3 3.3 3.3 3.3 12.5

31 A FEk TFILITFTC A 3.571 4 25.0 3.3 3.3 10.2 8.2

32 A EBE fITHHATA fE L 3.529 6 24.17 3.3 3.3 3.3 3.3 3.3 8.2

33 BA BEUF BEAR—FTC E 3. 457 6 24.2 1.7 1.7 1.7 7.1 5.4 6.6

34 ik BE HILEETC ] Ly 3. 071 6 21.5 1.7 3.3 3.3 1.7 3.3 8.2

3% H/8 # FTU—2R7—X BIR 2.743 6 19.2 1.7 1.7 1.7 3.3 5.1 5.1

36 EIL M NBF=xH—F> BB 2.586 5 18.1 3.3 3.3 6.5 1.7 3.3

37 828 My OITVEEKRS LS 2.486 6 17.4 3.3 1.7 0.8 1.7 3.3 6.6

38 K EH TC ART ] L 2.457 5 17.2 3.3 0.8 3.3 6.5 3.3

39 B ®F H=-—TS EH 2.314 5 16.2 1.7 1.7 1.7 5.7 5.4

40 BRIE #)75 every TC f# L 2.129 5 14.9 3.3 3.3 3.3 3.3 1.7

41 HpEE  fRmE I HE EiR 2.000 4 14.0 3.3 1.7 3.3 517

42 EE BFE NBF=RHA—F> LB 1.900 5 13.3 1.7 1.7 3.3 3.3 3.3

42 EiD ME ke ~TC A 1. 900 5 13.3 3.3 3.3 1.7 3.3 1.7

44 B {HiE weF=x7aFs— LA 1.886 4 13.2 3.3 3.3 3.3 3.3

45 A ¥M 7FHROTC 1=3:)4 1.700 3 11.9 1.7 5.1 5.1

46 #EFT fBE SU—2R7—X BiR 1.414 4 9.9 1.7 1.7 1.7 4.8

47 HE BE ZONE LE 1.329 6 9.3 1.7 1.7 0.8 1.7 1.7 1.7

48 B IHF ITHEAFTA fE L 1.314 5 9.2 1.7 0.8 1.7 3.3 1.7

48 Kt E¥ THEHTA fE L 1.314 5 9.2 1.7 1.7 0.8 1.7 3.3

50 AFR# MWETEMIYAKE Ts [ 1. 200 4 8.4 3.3 1.7 1.7 1.7

50 ;IA E& H[HIITS ] Ly 1. 200 4 8.4 3.3 1.7 1.7 1.7

52 XE EM #WAR—FrTC BH 1.143 2 8.0 1.7 6.3

53 k4R K Ff 7HETC fE L 0.971 4 6.8 1.7 1.7 1.7 1.7
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53 EH %W TFTHYETC El 0.971 4 6.8 1.7 1.7 1.7 1.7

5 #H#H E &<{iBSSscC ER  0.957 3 6.7 3.3 1.7 1.7

55 #hil FRAHE HHEATA WL 0.957 3 6.7 1.7 3.3 1.7

51 =& BE +JIT=R7H LB 0.929 1 6.5 6.5

57 Il #HF 1HE B 0.929 1 6.5 6.5

59 ®ME #f N~NBF=2#H-F> JEE  0.843 4 5.9 1.7 0.8 1.7 1.7

59 EA FTHE  OTEFREHRE LE 0843 4 5.9 1.7 1.7 0.8 1.7

61 FE FXKF umezu ur 7T BEIR 0.829 3 5.8 3.3 0.8 1.7

61 £€F ME OTLFEKRS KB 0.829 3 5.8 0.8 3.3 1.7

61 fRf X ©TVZEHRS KB 0.829 3 5.8 0.8 3.3 1.7

64 K® MR H=-——FT=X EE  0.657 1 4.6 4.6

65 WH KBE NBF=RH—F> KB 0. 600 3 4.2 1.7 0.8 1.7

66 ;thE £ <BSSC ER  0.486 2 3.4 1.7 1.7

67 dtAt WAIXFH=—TS EE  0.471 1 3.3 3.3

67 Mk BF =ZX/TS A 0. 471 1 3.3 3.3

67 FE ##F POITVLEFEBN LS 0.47 1 3.3 3.3

70 FR TE 48K wn 0.243 1 1.7 1.7

70 #E FHR every TC il 0.243 1 1.7 1.7

0 £l #H LOSXTG A 0.243 1 1.7 1.7

70 dtE BEfE =<5SSC BiR 0.243 1 1.7 1.7

70 A & vaszk—vTc 40O 0.243 1 1.7 1.7

70 KK #& vaqszk—vTc 4O 0.243 1 1.7 1.7

10 7HE BF ©TVFEKRD KB 0.243 1 1.7 1.7

70 XA mmemT-zv57 BiR 0.243 1 1.7 1.7

70 #HE XRHEH #MEETC il 0.243 1 1.7 1.7

79 W HHY 48K wno 0.114 1 0.8 0.8

719 W& M¥E Scratch BE 0114 1 0.8 0.8

19 %E HRE T-Step IN= 0.114 1 0.8 0.8

79 R #MfE T-Step KE  0.114 1 0.8 0.8

19 B dHN T-Step KE  0.114 1 0.8 0.8

19 8 BE 7LIFTC A 0.114 1 0.8 0.8

19 B HE TFILIFTC wA 0.114 1 0.8 0.8

19 % ME TFTLIFTC wn 0.114 1 0.8 0.8

79 #@B B TFILIFTC wno 0.114 1 0.8 0.8

19 B FTHE TFILIFTC wA 0.114 1 0.8 0.8

79 £ T L\DS5ZTG wA 0.114 1 0.8 0.8

79 WK ZEE LDSXTG wn 0.114 1 0.8 0.8

19 B RA¥E 94 +y—XT-Cc LA 0.114 1 0.8 0.8

19 B8 DK HERYTC A 0.114 1 0.8 0.8

19 @R B4& L/ 770 wA 0.114 1 0.8 0.8



